Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Washington

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518879-1 4/16/2025 5/16/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 7 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	246.00	\$25.00	\$6,150.00
Amplify Science Middle School: Plate Motion Student Investigation Notebook with Article Compilation	281.00	\$3.99	\$1,121.19
Amplify Science Middle School: Rock Transformations Student Investigation Notebook with Article Compilation	231.00	\$3.99	\$921.69
Amplify Science Middle School: Phase Change Student Investigation Notebook with Article Compilation	256.00	\$3.99	\$1,021.44
Amplify Science Middle School: Chemical Reactions Student Investigation Notebook with Article Compilation	256.00	\$3.99	\$1,021.44
Amplify Science Middle School: Populations and Resources Student Investigation Notebook with Article Compilation	211.00	\$3.99	\$841.89
Amplify Science Middle School: Matter and Energy in Ecosystems Student Investigation Notebook with Article Compilation	206.00	\$3.99	\$821.94
Amplify Science Full Year Grade 8 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	289.00	\$25.00	\$7,225.00
Amplify Science Middle School: Harnessing Human Energy Student Investigation Notebook with Article Compilation	314.00	\$3.99	\$1,252.86
Amplify Science Middle School: Force and Motion Student Investigation Notebook with Article Compilation	174.00	\$3.99	\$694.26
Amplify Science Middle School: Magnetic Fields Student Investigation Notebook with Article Compilation	294.00	\$3.99	\$1,173.06
Amplify Science Middle School: Light Waves Student Investigation Notebook with Article Compilation	301.00	\$3.99	\$1,200.99
Amplify Science Middle School: Earth, Moon, and Sun Student Investigation Notebook with Article Compilation	294.00	\$3.99	\$1,173.06

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Middle School: Natural Selection Student Investigation Notebook with Article Compilation	269.00	\$3.99	\$1,073.31
Amplify Science Middle School: Natural Selection Engineering Internship Student Investigation Notebook with Article Compilation	184.00	\$3.99	\$734.16
TOTAL			\$26,426.29

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$1,566.15	\$1,566.15

GRAND TOTAL

\$27,992.44

Scope and Duration	
--------------------	--

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://www.amplify.com/w-9.pdf</u>

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

- FOR SHIPPED MATERIALS:
 - Expedited shipping is available at extra charge.
 - Print materials and kits are non-returnable and non-refundable, except in the case of defective or missing materials reported by Customer within 60 days of receipt.
- FOR SERVICES:
 - Training and professional development sessions cancelled with less than one week notice will be deemed delivered.

How to Order Our Products

Amplify would like to process your order as quickly as possible. Please visit <u>amplify.com/ordering-support</u> to find all the information you need for submitting your order. We accept the following forms of payment: purchase orders, checks, and credit card payments (Visa, MasterCard, Discover and American Express). In order for us to assist you, please help us by following these instructions: **Please include these three documents with your order:**

- Authorized purchase order or check
 - A copy of your Price Quote
 - A copy of your Tax-Exemption Certificate

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Thurgood Marshall

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-483008-2 4/16/2025 5/16/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

6th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	5.00	\$25.00	\$125.00
TOTAL			\$125.00

7th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 7 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	5.00	\$25.00	\$125.00
TOTAL			\$125.00

8th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 8 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	5.00	\$25.00	\$125.00
TOTAL			\$125.00

GRAND TOTAL

\$375.00

Scope and Duration

Payment Terms: • Th

This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Thomas Jefferson

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-482984-2 4/16/2025 5/16/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	39.00	\$25.00	\$975.00
Amplify Science Middle School: Microbiome Student Investigation Notebook with Article Compilation	18.00	\$3.99	\$71.82
Amplify Science Middle School: Metabolism Student Investigation Notebook with Article Compilation	28.00	\$3.99	\$111.72
Amplify Science Middle School: Metabolism Engineering Internship Student Investigation Notebook with Article Compilation	59.00	\$3.99	\$235.41
TOTAL			\$1,393.95

GRAND TOTAL

\$1,444.22

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u>www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Ridgewood

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-483038-1 4/16/2025 5/16/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	35.00	\$25.00	\$875.00
TOTAL			\$875.00

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$0.00	\$0.00

GRAND TOTAL

\$875.00

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u>www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

FOR SHIPPED MATERIALS:

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

RICMS

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518781-2 4/24/2025 5/24/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	56.00	\$25.00	\$1,400.00
Amplify Science Middle School: Microbiome Student Investigation Notebook with Article Compilation	46.00	\$3.99	\$183.54
Amplify Science Middle School: Metabolism Student Investigation Notebook with Article Compilation	43.00	\$3.99	\$171.57
TOTAL			\$1,755.11

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$42.61	\$42.61

GRAND TOTAL

\$1,797.72

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u> www.amplify.com/w-9.pdf

License and Services Term:

Licenses: 07/01/2025 until 06/30/2026.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

RI Academy

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518777-1 4/16/2025 5/16/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	65.00	\$25.00	\$1,625.00
Amplify Science Middle School: Microbiome Student Investigation Notebook with Article Compilation	47.00	\$3.99	\$187.53
TOTAL			\$1,812.53

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$22.50	\$22.50

GRAND TOTAL

\$1,835.03

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://www.amplify.com/w-9.pdf</u>

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Longfellow

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

Quote #:

Expires On:

Delivery Service Level:

Date:

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	30.00	\$25.00	\$750.00
TOTAL			\$750.00

GRAND TOTAL

\$750.00

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u><u>www.amplify.com/w-9.pdf</u>

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

- FOR SHIPPED MATERIALS:
 - Expedited shipping is available at extra charge.
 - Print materials and kits are non-returnable and non-refundable, except in the case of defective or missing materials reported by Customer within 60 days of receipt.
- FOR SERVICES:

Price Quote

Q-518762-1 4/16/2025 5/16/2025 Standard

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Frances Willard

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518733-1 4/16/2025 5/16/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	32.00	\$25.00	\$800.00
Amplify Science Middle School: Metabolism Engineering Internship Student Investigation Notebook with Article Compilation	24.00	\$3.99	\$95.76
TOTAL			\$895.76

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$11.49	\$11.49

GRAND TOTAL

\$907.25

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://www.amplify.com/w-9.pdf</u>

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Eugene Field

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518747-1 4/16/2025 5/16/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	60.00	\$25.00	\$1,500.00
Amplify Science Middle School: Microbiome Student Investigation Notebook with Article Compilation	65.00	\$3.99	\$259.35
Amplify Science Middle School: Metabolism Student Investigation Notebook with Article Compilation	66.00	\$3.99	\$263.34
TOTAL			\$2,022.69

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$62.72	\$62.72

GRAND TOTAL

\$2,085.41

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u><u>www.amplify.com/w-9.pdf</u>

License and Services Term:

Licenses: 07/01/2025 until 06/30/2026.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Edison

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518815-1 4/16/2025 5/16/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

7th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 7 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	196.00	\$25.00	\$4,900.00
Amplify Science Middle School: Geology on Mars Investigation Notebook with Article Compilation	211.00	\$3.99	\$841.89
Amplify Science Middle School: Plate Motion Student Investigation Notebook with Article Compilation	218.00	\$3.99	\$869.82
Amplify Science Middle School: Rock Transformations Student Investigation Notebook with Article Compilation	215.00	\$3.99	\$857.85
Amplify Science Middle School: Phase Change Student Investigation Notebook with Article Compilation	187.00	\$3.99	\$746.13
Amplify Science Middle School: Chemical Reactions Student Investigation Notebook with Article Compilation	203.00	\$3.99	\$809.97
Amplify Science Middle School: Populations and Resources Student Investigation Notebook with Article Compilation	215.00	\$3.99	\$857.85
Amplify Science Middle School: Matter and Energy in Ecosystems Student Investigation Notebook with Article Compilation	215.00	\$3.99	\$857.85
TOTAL			\$10,741.36

8th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 8 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	200.00	\$25.00	\$5,000.00
Amplify Science Middle School: Harnessing Human Energy Student Investigation Notebook with Article Compilation	202.00	\$3.99	\$805.98

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Middle School: Force and Motion Student Investigation Notebook with Article Compilation	203.00	\$3.99	\$809.97
Amplify Science Middle School: Force and Motion Engineering Internship Student Investigation Notebook with Article Compilation	193.00	\$3.99	\$770.07
Amplify Science Middle School: Magnetic Fields Student Investigation Notebook with Article Compilation	200.00	\$3.99	\$798.00
Amplify Science Middle School: Light Waves Student Investigation Notebook with Article Compilation	189.00	\$3.99	\$754.11
Amplify Science Middle School: Earth, Moon, and Sun Student Investigation Notebook with Article Compilation	195.00	\$3.99	\$778.05
Amplify Science Middle School: Natural Selection Student Investigation Notebook with Article Compilation	197.00	\$3.99	\$786.03
Amplify Science Middle School: Natural Selection Engineering Internship Student Investigation Notebook with Article Compilation	35.00	\$3.99	\$139.65
Amplify Science Middle School: Evolutionary History Student Investigation Notebook with Article Compilation	192.00	\$3.99	\$766.08
TOTAL			\$11,407.94

7th Grade

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$1,469.92	\$1,469.92

\$23,619.22

GRAND TOTAL

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u><u>www.amplify.com/w-9.pdf</u>

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

- FOR SHIPPED MATERIALS:
 - Expedited shipping is available at extra charge.
 - Print materials and kits are non-returnable and non-refundable, except in the case of defective or missing materials reported by Customer within 60 days of receipt.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Earl Hanson

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518737-2 4/24/2025 5/24/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

6th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	37.00	\$25.00	\$925.00
Amplify Science Middle School: Metabolism Student Investigation Notebook with Article Compilation	25.00	\$3.99	\$99.75
Amplify Science Middle School: Weather Patterns Student Investigation Notebook with Article Compilation	16.00	\$3.99	\$63.84
Amplify Science Middle School: Metabolism Engineering Internship Student Investigation Notebook with Article Compilation	47.00	\$3.99	\$187.53
Amplify Science Middle School: Earth's Changing Climate Student Investigation Notebook with Article Compilation	16.00	\$3.99	\$63.84
TOTAL			\$1,339.96

7th Grade

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 7 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	20.00	\$25.00	\$500.00
TOTAL			\$500.00

7th Grade

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$49.80	\$49.80

GRAND TOTAL

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Denkmann

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518718-2 4/24/2025 5/24/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
Amplify Science Full Year Grade 6 Course - Integrated Model - LICENSE - UPFRONT - 1yr (2025-2026)	47.00	\$25.00	\$1,175.00
Amplify Science Middle School: Microbiome Student Investigation Notebook with Article Compilation	43.00	\$3.99	\$171.57
Amplify Science Middle School: Metabolism Student Investigation Notebook with Article Compilation	44.00	\$3.99	\$175.56
Amplify Science Middle School: Metabolism Engineering Internship Student Investigation Notebook with Article Compilation	55.00	\$3.99	\$219.45
TOTAL			\$1,741.58

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$67.99	\$67.99

GRAND TOTAL

\$1,809.57

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: http://www.amplify.com/w-9.pdf

Page 1 of 5

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Thomas Jefferson

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518669-1 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	35.00	\$5.60	\$0.00	\$196.00
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	27.00	\$5.60	\$0.00	\$151.20
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	34.00	\$5.60	\$0.00	\$190.40
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	20.00	\$5.60	\$0.00	\$112.00
CKLA 2nd Edition GK Skills U5 Activity Book	33.00	\$5.60	\$0.00	\$184.80
CKLA 2nd Edition GK Skills U6 Activity Book	31.00	\$5.60	\$0.00	\$173.60
CKLA 2nd Edition GK Skills U7 Activity Book	20.00	\$5.60	\$0.00	\$112.00
CKLA 2nd Edition GK Skills U8 Activity Book	27.00	\$5.60	\$0.00	\$151.20
CKLA 2nd Edition GK Skills U9 Activity Book	25.00	\$4.36	\$0.00	\$109.00
CKLA 2nd Edition GK Skills U10 Activity Book	30.00	\$5.60	\$0.00	\$168.00
TOTAL			\$0.00	\$1,548.20

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	40.00	\$5.60	\$0.00	\$224.00
CKLA 2nd Edition G1 Skills U2 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition G1 Skills U3 Activity Book	39.00	\$5.60	\$0.00	\$218.40
CKLA 2nd Edition G1 Skills U4 Activity Book	49.00	\$5.60	\$0.00	\$274.40
CKLA 2nd Edition G1 Skills U5 Activity Book	45.00	\$5.60	\$0.00	\$252.00

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U6 Activity Book	46.00	\$5.60	\$0.00	\$257.60
CKLA 2nd Edition G1 Skills U7 Activity Book	41.00	\$5.60	\$0.00	\$229.60
TOTAL			\$0.00	\$1,652.00

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	47.00	\$5.60	\$0.00	\$263.20
CKLA 2nd Edition G2 Skills U2 Activity Book	47.00	\$5.60	\$0.00	\$263.20
CKLA 2nd Edition G2 Skills U3 Activity Book	49.00	\$5.60	\$0.00	\$274.40
CKLA 2nd Edition G2 Skills U4 Activity Book	70.00	\$5.60	\$0.00	\$392.00
CKLA 2nd Edition G2 Skills U5 Activity Book	28.00	\$5.60	\$0.00	\$156.80
CKLA 2nd Edition G2 Skills U6 Activity Book	50.00	\$5.60	\$0.00	\$280.00
TOTAL			\$0.00	\$1,629.60

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$579.58	\$193.18	\$386.40
TOTAL DISCOUNT GRAND TOTAL				\$193.18 \$13,816.20

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Ridgewood

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518664-3 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition GK Skills U9 Activity Book	4.00	\$4.36	\$0.00	\$17.44
CKLA 2nd Edition GK Skills U5 Activity Book	24.00	\$5.60	\$0.00	\$134.40
TOTAL			\$0.00	\$151.84

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	9.00	\$5.60	\$0.00	\$50.40
CKLA 2nd Edition G1 Skills U2 Activity Book	4.00	\$5.60	\$0.00	\$22.40
CKLA 2nd Edition G1 Skills U4 Activity Book	20.00	\$5.60	\$0.00	\$112.00
CKLA 2nd Edition G1 Skills U5 Activity Book	26.00	\$5.60	\$0.00	\$145.60
CKLA 2nd Edition G1 Skills U6 Activity Book	21.00	\$5.60	\$0.00	\$117.60
CKLA 2nd Edition G1 Skills U7 Activity Book	11.00	\$5.60	\$0.00	\$61.60
TOTAL			\$0.00	\$509.60

CKLA G2

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	14.00	\$5.60	\$0.00	\$78.40
CKLA 2nd Edition G2 Skills U2 Activity Book	15.00	\$5.60	\$0.00	\$84.00
CKLA 2nd Edition G2 Skills U3 Activity Book	15.00	\$5.60	\$0.00	\$84.00

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U4 Activity Book	15.00	\$5.60	\$0.00	\$84.00
CKLA 2nd Edition G2 Skills U5 Activity Book	12.00	\$5.60	\$0.00	\$67.20
CKLA 2nd Edition G2 Skills U6 Activity Book	16.00	\$5.60	\$0.00	\$89.60
TOTAL			\$0.00	\$487.20

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$137.84	\$45.94	\$91.90
TOTAL DISCOUNT				\$45.94

\$9.840.54

GRAND TOTAL

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u> www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

- FOR SHIPPED MATERIALS:
 - Expedited shipping is available at extra charge.
 - Print materials and kits are non-returnable and non-refundable, except in the case of defective or missing materials reported by Customer within 60 days of receipt.
- FOR SERVICES:

•

Training and professional development sessions cancelled with less than one week notice will be deemed delivered.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

RICMS

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518668-2 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	41.00	\$5.60	\$0.00	\$229.60
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	60.00	\$5.60	\$0.00	\$336.00
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	50.00	\$5.60	\$0.00	\$280.00
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	60.00	\$5.60	\$0.00	\$336.00
CKLA 2nd Edition GK Skills U5 Activity Book	43.00	\$5.60	\$0.00	\$240.80
CKLA 2nd Edition GK Skills U6 Activity Book	60.00	\$5.60	\$0.00	\$336.00
CKLA 2nd Edition GK Skills U7 Activity Book	60.00	\$5.60	\$0.00	\$336.00
CKLA 2nd Edition GK Skills U8 Activity Book	60.00	\$5.60	\$0.00	\$336.00
CKLA 2nd Edition GK Skills U9 Activity Book	60.00	\$4.36	\$0.00	\$261.60
CKLA 2nd Edition GK Skills U10 Activity Book	13.00	\$5.60	\$0.00	\$72.80
TOTAL			\$0.00	\$2,764.80

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	79.00	\$5.60	\$0.00	\$442.40
CKLA 2nd Edition G1 Skills U2 Activity Book	77.00	\$5.60	\$0.00	\$431.20
CKLA 2nd Edition G1 Skills U3 Activity Book	67.00	\$5.60	\$0.00	\$375.20
CKLA 2nd Edition G1 Skills U4 Activity Book	70.00	\$5.60	\$0.00	\$392.00
CKLA 2nd Edition G1 Skills U5 Activity Book	65.00	\$5.60	\$0.00	\$364.00

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U6 Activity Book	82.00	\$5.60	\$0.00	\$459.20
CKLA 2nd Edition G1 Skills U7 Activity Book	44.00	\$5.60	\$0.00	\$246.40
TOTAL			\$0.00	\$2,710.40

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	72.00	\$5.60	\$0.00	\$403.20
CKLA 2nd Edition G2 Skills U2 Activity Book	65.00	\$5.60	\$0.00	\$364.00
CKLA 2nd Edition G2 Skills U3 Activity Book	78.00	\$5.60	\$0.00	\$436.80
CKLA 2nd Edition G2 Skills U4 Activity Book	84.00	\$5.60	\$0.00	\$470.40
CKLA 2nd Edition G2 Skills U5 Activity Book	71.00	\$5.60	\$0.00	\$397.60
CKLA 2nd Edition G2 Skills U6 Activity Book	71.00	\$5.60	\$0.00	\$397.60
TOTAL			\$0.00	\$2,469.60

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$953.38	\$317.76	\$635.62
TOTAL DISCOUNT GRAND TOTAL				\$317.76 \$17,180.42

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

RI Academy

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518667-3 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	66.00	\$5.60	\$0.00	\$369.60
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	26.00	\$5.60	\$0.00	\$145.60
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	78.00	\$5.60	\$0.00	\$436.80
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	70.00	\$5.60	\$0.00	\$392.00
CKLA 2nd Edition GK Skills U5 Activity Book	66.00	\$5.60	\$0.00	\$369.60
CKLA 2nd Edition GK Skills U6 Activity Book	67.00	\$5.60	\$0.00	\$375.20
CKLA 2nd Edition GK Skills U7 Activity Book	66.00	\$5.60	\$0.00	\$369.60
CKLA 2nd Edition GK Skills U8 Activity Book	64.00	\$5.60	\$0.00	\$358.40
CKLA 2nd Edition GK Skills U9 Activity Book	76.00	\$4.36	\$0.00	\$331.36
CKLA 2nd Edition GK Skills U10 Activity Book	91.00	\$5.60	\$0.00	\$509.60
TOTAL			\$0.00	\$3,657.76

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	73.00	\$5.60	\$0.00	\$408.80
CKLA 2nd Edition G1 Skills U2 Activity Book	73.00	\$5.60	\$0.00	\$408.80
CKLA 2nd Edition G1 Skills U3 Activity Book	80.00	\$5.60	\$0.00	\$448.00
CKLA 2nd Edition G1 Skills U4 Activity Book	66.00	\$5.60	\$0.00	\$369.60
CKLA 2nd Edition G1 Skills U5 Activity Book	81.00	\$5.60	\$0.00	\$453.60

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U6 Activity Book	64.00	\$5.60	\$0.00	\$358.40
CKLA 2nd Edition G1 Skills U7 Activity Book	72.00	\$5.60	\$0.00	\$403.20
TOTAL			\$0.00	\$2,850.40

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	45.00	\$5.60	\$0.00	\$252.00
CKLA 2nd Edition G2 Skills U2 Activity Book	15.00	\$5.60	\$0.00	\$84.00
CKLA 2nd Edition G2 Skills U3 Activity Book	47.00	\$5.60	\$0.00	\$263.20
CKLA 2nd Edition G2 Skills U4 Activity Book	39.00	\$5.60	\$0.00	\$218.40
CKLA 2nd Edition G2 Skills U5 Activity Book	21.00	\$5.60	\$0.00	\$117.60
CKLA 2nd Edition G2 Skills U6 Activity Book	45.00	\$5.60	\$0.00	\$252.00
TOTAL			\$0.00	\$1,187.20

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$923.44	\$307.78	\$615.66
TOTAL DISCOUNT GRAND TOTAL				\$307.78 \$16,911.02

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Longfellow

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518665-4 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	33.00	\$5.60	\$0.00	\$184.80
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	29.00	\$5.60	\$0.00	\$162.40
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	34.00	\$5.60	\$0.00	\$190.40
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition GK Skills U5 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition GK Skills U6 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition GK Skills U7 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition GK Skills U8 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition GK Skills U9 Activity Book	37.00	\$4.36	\$0.00	\$161.32
CKLA 2nd Edition GK Skills U10 Activity Book	37.00	\$5.60	\$0.00	\$207.20
TOTAL			\$0.00	\$1,891.72

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition G1 Skills U2 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition G1 Skills U3 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition G1 Skills U4 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition G1 Skills U5 Activity Book	14.00	\$5.60	\$0.00	\$78.40

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U6 Activity Book	38.00	\$5.60	\$0.00	\$212.80
TOTAL			\$0.00	\$1,097.60

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	33.00	\$5.60	\$0.00	\$184.80
CKLA 2nd Edition G2 Skills U2 Activity Book	24.00	\$5.60	\$0.00	\$134.40
CKLA 2nd Edition G2 Skills U3 Activity Book	29.00	\$5.60	\$0.00	\$162.40
CKLA 2nd Edition G2 Skills U4 Activity Book	33.00	\$5.60	\$0.00	\$184.80
CKLA 2nd Edition G2 Skills U5 Activity Book	32.00	\$5.60	\$0.00	\$179.20
CKLA 2nd Edition G2 Skills U6 Activity Book	38.00	\$5.60	\$0.00	\$212.80
TOTAL			\$0.00	\$1,058.40

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$485.73	\$161.90	\$323.83
TOTAL DISCOUNT				\$161.90

GRAND TOTAL

\$161.90 \$12,971.55

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: http://www.amplify.com/w-9.pdf

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Frances Willard

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518663-2 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition GK Skills U5 Activity Book	29.00	\$5.60	\$0.00	\$162.40
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	11.00	\$5.60	\$0.00	\$61.60
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	36.00	\$5.60	\$0.00	\$201.60
CKLA 2nd Edition GK Skills U7 Activity Book	7.00	\$5.60	\$0.00	\$39.20
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	31.00	\$5.60	\$0.00	\$173.60
TOTAL			\$0.00	\$638.40

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	48.00	\$5.60	\$0.00	\$268.80
CKLA 2nd Edition G1 Skills U2 Activity Book	41.00	\$5.60	\$0.00	\$229.60
CKLA 2nd Edition G1 Skills U3 Activity Book	44.00	\$5.60	\$0.00	\$246.40
CKLA 2nd Edition G1 Skills U4 Activity Book	40.00	\$5.60	\$0.00	\$224.00
CKLA 2nd Edition G1 Skills U5 Activity Book	41.00	\$5.60	\$0.00	\$229.60
CKLA 2nd Edition G1 Skills U6 Activity Book	28.00	\$5.60	\$0.00	\$156.80
CKLA 2nd Edition G1 Skills U7 Activity Book	46.00	\$5.60	\$0.00	\$257.60
TOTAL			\$0.00	\$1,612.80

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	29.00	\$5.60	\$0.00	\$162.40
CKLA 2nd Edition G2 Skills U2 Activity Book	37.00	\$5.60	\$0.00	\$207.20
CKLA 2nd Edition G2 Skills U3 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition G2 Skills U4 Activity Book	28.00	\$5.60	\$0.00	\$156.80
CKLA 2nd Edition G2 Skills U5 Activity Book	35.00	\$5.60	\$0.00	\$196.00
CKLA 2nd Edition G2 Skills U6 Activity Book	36.00	\$5.60	\$0.00	\$201.60
TOTAL			\$0.00	\$1,120.00

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$404.54	\$134.83	\$269.71

TOTAL DISCOUNT GRAND TOTAL

\$134.83 \$12,240.91

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: <u>http://</u>www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

•

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Eugene Field

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518662-3 4/25/2025 5/25/2025 Standard

Price Quote

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
CKLA 2nd Edition GK Skills U9 Activity Book	63.00	\$4.36	\$274.68
CKLA 2nd Edition GK Skills U6 Activity Book	92.00	\$5.60	\$515.20
CKLA 2nd Edition GK Skills U8 Activity Book	56.00	\$5.60	\$313.60
CKLA 2nd Edition GK Skills U5 Activity Book	94.00	\$5.60	\$526.40
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	77.00	\$5.60	\$431.20
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	87.00	\$5.60	\$487.20
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	72.00	\$5.60	\$403.20
CKLA 2nd Edition GK Skills U7 Activity Book	90.00	\$5.60	\$504.00
CKLA 2nd Edition GK Skills U10 Activity Book	51.00	\$5.60	\$285.60
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	79.00	\$5.60	\$442.40
TOTAL			\$4,183.48

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	95.00	\$5.60	\$532.00
CKLA 2nd Edition G1 Skills U2 Activity Book	71.00	\$5.60	\$397.60
CKLA 2nd Edition G1 Skills U3 Activity Book	91.00	\$5.60	\$509.60
CKLA 2nd Edition G1 Skills U4 Activity Book	64.00	\$5.60	\$358.40
CKLA 2nd Edition G1 Skills U5 Activity Book	66.00	\$5.60	\$369.60
CKLA 2nd Edition G1 Skills U6 Activity Book	69.00	\$5.60	\$386.40

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
CKLA 2nd Edition G1 Skills U7 Activity Book	74.00	\$5.60	\$414.40
TOTAL			\$2,968.00

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	55.00	\$5.60	\$308.00
CKLA 2nd Edition G2 Skills U2 Activity Book	51.00	\$5.60	\$285.60
CKLA 2nd Edition G2 Skills U3 Activity Book	53.00	\$5.60	\$296.80
CKLA 2nd Edition G2 Skills U4 Activity Book	48.00	\$5.60	\$268.80
CKLA 2nd Edition G2 Skills U5 Activity Book	54.00	\$5.60	\$302.40
CKLA 2nd Edition G2 Skills U6 Activity Book	52.00	\$5.60	\$291.20
TOTAL			\$1,752.80

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$4,750.00
TOTAL			\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$1,068.51	\$712.38

GRAND TOTAL

\$18,216.66

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: http://www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Earl Hanson

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518660-3 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition GK Skills U6 Activity Book	5.00	\$5.60	\$0.00	\$28.00
CKLA 2nd Edition GK Skills U8 Activity Book	16.00	\$5.60	\$0.00	\$89.60
CKLA 2nd Edition GK Skills U5 Activity Book	18.00	\$5.60	\$0.00	\$100.80
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	20.00	\$5.60	\$0.00	\$112.00
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	20.00	\$5.60	\$0.00	\$112.00
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	24.00	\$5.60	\$0.00	\$134.40
CKLA 2nd Edition GK Skills U7 Activity Book	30.00	\$5.60	\$0.00	\$168.00
CKLA 2nd Edition GK Skills U10 Activity Book	30.00	\$5.60	\$0.00	\$168.00
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	33.00	\$5.60	\$0.00	\$184.80
TOTAL			\$0.00	\$1,097.60

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U2 Activity Book	17.00	\$5.60	\$0.00	\$95.20
CKLA 2nd Edition G1 Skills U3 Activity Book	16.00	\$5.60	\$0.00	\$89.60
CKLA 2nd Edition G1 Skills U4 Activity Book	25.00	\$5.60	\$0.00	\$140.00
CKLA 2nd Edition G1 Skills U5 Activity Book	11.00	\$5.60	\$0.00	\$61.60
CKLA 2nd Edition G1 Skills U7 Activity Book	34.00	\$5.60	\$0.00	\$190.40
TOTAL			\$0.00	\$576.80

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	17.00	\$5.60	\$0.00	\$95.20
CKLA 2nd Edition G2 Skills U2 Activity Book	16.00	\$5.60	\$0.00	\$89.60
CKLA 2nd Edition G2 Skills U3 Activity Book	16.00	\$5.60	\$0.00	\$89.60
CKLA 2nd Edition G2 Skills U4 Activity Book	16.00	\$5.60	\$0.00	\$89.60
CKLA 2nd Edition G2 Skills U5 Activity Book	14.00	\$5.60	\$0.00	\$78.40
CKLA 2nd Edition G2 Skills U6 Activity Book	35.00	\$5.60	\$0.00	\$196.00
TOTAL			\$0.00	\$638.40

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$277.54	\$92.51	\$185.03

TOTAL DISCOUNT GRAND TOTAL

\$92.51 \$11,097.83

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.
- The Federal Tax ID # for Amplify Education, Inc. is 13-4125483. A copy of Amplify's W-9 can be found at: http://www.amplify.com/w-9.pdf

License and Services Term:

- Licenses: 07/01/2025 until 06/30/2026.
- Services: 18 months from order date. Unless otherwise stated above, all training and other services purchased must be scheduled and delivered within such term or will be forfeited.

Special Terms:

Amplify

55 Washington Street, Suite 800 Brooklyn, NY 11201 Phone: (800) 823-1969 Fax: (646) 403-4700

Denkmann

Customer Contact Information Stacey Golz Rock Island Milan Sch Dist 41 3097935900 stacey.golz@rimsd41.org Quote #: Date: Expires On: Delivery Service Level: Q-518657-1 4/17/2025 5/17/2025 Standard

Amplify Contact Information Kristin McDonald Senior Account Executive (515) 240-0244 kmcdonald@amplify.com

CKLA GK

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
Amplify CKLA 2nd Ed GK Skills U1 Activity Book	78.00	\$5.60	\$0.00	\$436.80
Amplify CKLA 2nd Ed GK Skills U2 Activity Book	83.00	\$5.60	\$0.00	\$464.80
Amplify CKLA 2nd Ed GK Skills U3 Activity Book	77.00	\$5.60	\$0.00	\$431.20
Amplify CKLA 2nd Ed GK Skills U4 Activity Book	75.00	\$5.60	\$0.00	\$420.00
CKLA 2nd Edition GK Skills U5 Activity Book	77.00	\$5.60	\$0.00	\$431.20
CKLA 2nd Edition GK Skills U6 Activity Book	79.00	\$5.60	\$0.00	\$442.40
CKLA 2nd Edition GK Skills U7 Activity Book	79.00	\$5.60	\$0.00	\$442.40
CKLA 2nd Edition GK Skills U8 Activity Book	78.00	\$5.60	\$0.00	\$436.80
CKLA 2nd Edition GK Skills U9 Activity Book	58.00	\$4.36	\$0.00	\$252.88
CKLA 2nd Edition GK Skills U10 Activity Book	75.00	\$5.60	\$0.00	\$420.00
TOTAL			\$0.00	\$4,178.48

CKLA G1

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U1 Activity Book	65.00	\$5.60	\$0.00	\$364.00
CKLA 2nd Edition G1 Skills U2 Activity Book	62.00	\$5.60	\$0.00	\$347.20
CKLA 2nd Edition G1 Skills U3 Activity Book	65.00	\$5.60	\$0.00	\$364.00
CKLA 2nd Edition G1 Skills U4 Activity Book	63.00	\$5.60	\$0.00	\$352.80
CKLA 2nd Edition G1 Skills U5 Activity Book	66.00	\$5.60	\$0.00	\$369.60

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G1 Skills U6 Activity Book	60.00	\$5.60	\$0.00	\$336.00
CKLA 2nd Edition G1 Skills U7 Activity Book	62.00	\$5.60	\$0.00	\$347.20
TOTAL			\$0.00	\$2,480.80

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
CKLA 2nd Edition G2 Skills U1 Activity Book	31.00	\$5.60	\$0.00	\$173.60
CKLA 2nd Edition G2 Skills U2 Activity Book	48.00	\$5.60	\$0.00	\$268.80
CKLA 2nd Edition G2 Skills U3 Activity Book	49.00	\$5.60	\$0.00	\$274.40
CKLA 2nd Edition G2 Skills U4 Activity Book	45.00	\$5.60	\$0.00	\$252.00
CKLA 2nd Edition G2 Skills U5 Activity Book	46.00	\$5.60	\$0.00	\$257.60
CKLA 2nd Edition G2 Skills U6 Activity Book	66.00	\$5.60	\$0.00	\$369.60
TOTAL			\$0.00	\$1,596.00

mClass/Boost Reading

PRODUCT	QUANTITY	PRICE	TOTAL DISCOUNT	TOTAL PRICE
mCLASS Intervention - School Site License - 1yr (2025-2026)	1.00	\$3,850.00	\$0.00	\$3,850.00
Boost Reading Site License (1-250 students) - 1yr (2025-2026)	1.00	\$4,750.00	\$0.00	\$4,750.00
TOTAL			\$0.00	\$8,600.00

Shipping and Handling

SHIPPING AND HANDLING	DELIVERY SERVICE LEVEL	SHIPPING COST	TOTAL DISCOUNT	TOTAL PRICE
Amplify Shipping and Handling	Standard	\$990.63	\$330.17	\$660.46
TOTAL DISCOUNT GRAND TOTAL				\$330.17 \$17,515.74

Scope and Duration

Payment Terms:

- This Price Quote (including all pricing and other terms) is valid through Quote Expiration Date stated above.
- Payment terms: net 30 days.
- Prices do not include sales tax, if applicable.
- Pricing terms in the Price Quote are based on the scope of purchase and other terms herein.